Study Guide Part 3: Substitution and Building Algebraic Expressions
Name: _________________________

	Which situation matches the equation shown?

0.31x = 48,415

A. 48,415 people were younger than 12 years old. 31% of these were under 5 years old. What is x, the people under 5 years old?


B. Casey made $48,415 in one year. What is x, the amount of money he made in one month?

C. Of the people living in Memphis, 48,415, or 31%, were born in another state. What is x, 

the number of people who live in Memphis?


D. Tyra bought a new car for $48,415. What is x, the amount of sales tax paid on her purchase?

	The cost of a cab ride at one airport is $4 and $1.20 for each mile. What is the relationship between the total cost c and the number of miles m?

A
c = 1.20 + 4m


B
c = 1.20m + 4


C
c = 1.20m - 4


D
c = 4m - 1.20
	Jarah needs $120 to fix his car. He has $65. Suppose Jarah earns $5 per hour mowing lawns. Which equation can be used to find the number of hours h Jarah must work to earn the difference?

A
120 + 65 = 5h


B
120 + 5h = 65


C
65h + 5h = 65


D
5h + 65 = 120

	Which problem situation matches the equation shown?

x + 10.55 = 11.18

A. Kafi bought a shirt that had a price of $10.55. The total cost was $11.18. What is x, the amount of sales tax?


B. Suzette paid $11.18 for a book. She gave the cashier $10.55. What is x, the amount of change she received?


C. Calvin ran the 100-yard dash in 11.18 seconds. His friend ran it in 10.55 seconds. What is x, the number of seconds Calvin was faster than his friend?


D. On a map, Devin measured a distance between City A and City B as 11.18 inches. Jaharra measured the distance between City B and City C as 10.55 inches. What is x, the total distance measured by Devin and Jaharra?

	Popular Games makes a profit of $10 on each game they sell. They agreed to donate $2 of the profit for each game they sold during one week to a hurricane relief fund. If x represents the number of games they sold that week, which function rule f (x) describes the amount of money they made after the donation?

A
f (x) = 2 – 10x


B
f (x) = (10 – 2)x


C
f (x) = 2 + 10x


D
f (x) = 10(2x)
	The table below shows the hourly wage earned at part-time jobs by 7 students.

[image: image1.png]Students | Hourly Wage
Melissa $6.25
Tegan $6.00
Cade $6.25
Gabriel $6.50
Nell §7.25
Diego 8675
Scott $6.00




 

What is the median hourly wage for these students?

Median:


	Ten students received the following scores on a math exam.

85, 83, 91, 76, 82, 88, 96, 92, 78, 71. 

What was the mean, median, and range in test score?

Mean:

Median:

Range:
	Darla’s family is landscaping their new yard. Darla’s father bought 9 pecan trees for a total of $225.00. Later that weekend, he bought another pecan tree for $15.00. What was the mean cost of the pecan trees?

A
$15.00


B
$20.00


C
$24.00


D
$25.00



	A group of dogs are weighed. The results are as follows: 2 weigh 8 pounds, 4 weigh 10 pounds, 5 weigh 14 pounds, 3 weigh 16 pounds, and 1 weighs 18 pounds. What is the upper quartile of the data?

A
12 pounds


B
13 pounds


C
14 pounds


D
16 pounds
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	Evaluate:  z(x + y)  when x=6, y=8 and z=6 


	Evaluate:   (a + b) 2 - c when a = 6, b = 2 and c = 14
	Evaluate:  4e – 3     when e= - 4
	Evaluate:
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	Norm’s goal is to save $350. He has $215 saved and he will save $20 per week. Which equation could be used to find w, the number of weeks.

A. 20w – 215 = 350
B. 215w = 350
C.  20w = 215
D.  215 + 20w = 350

	A number more than nine is equal to a number split by five.


	The difference of a number and 7 equals 24.



	Laura takes a taxi from the Titans game to his house.  The cab driver charges a $10 flat fee and $2 for each mile (m).  If Laura paid a total of $50 dollars for the taxi ride, write an equation to represent this situation.



	Solve the following equations:
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	-3d = 6
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	2 + 2w = 8


	Sunny downloaded several songs to her phone for $2.50 each, plus 10% for taxes and fees. She spent a total of $41.25. Solve the equation below for n to find the number of songs that Sunny downloaded.

                     $2.50n + $0.25n = $41.25

Sunny could download _____________ songs.
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	[image: image10.png]What is the value of 8.50p + 7.99c, when p=15 and c=6?
A 12794

B 17085
c 7544
D 34629







[image: image7.png]Jaron is buying an MP3 player for $62 and some DVDs for $8 each.
He spends a total of $118 before tax. Which equation models this
situation?

F 62x+8=118

G 62x—8=118

H 62+8x=118

J 62-8x=118
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